



## Some New Generalizations of Ostrowski Type Inequalities for $s$ -Convex Functions via Fractional Integral Operators

Erhan Set<sup>a</sup>

<sup>a</sup>Department of Mathematics, Faculty of Science and Arts, Ordu University, Ordu, Turkey

**Abstract.** Remarkably a lot of Ostrowski type inequalities involving various fractional integral operators have been investigated by many authors. Recently, Raina [34] introduced a new generalization of the Riemann-Liouville fractional integral operator involving a class of functions defined formally by  $\mathcal{F}_{\rho, \lambda}^{\sigma}(x) = \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(\rho k + \lambda)} x^k$ . Using this fractional integral operator, in the present note, we establish some new fractional integral inequalities of Ostrowski type whose special cases are shown to yield corresponding inequalities associated with Riemann-Liouville fractional integral operators.

### 1. Introduction

In 1938, A. Ostrowski [28], proved the following interesting and useful integral inequality concerning the distance between the integral mean  $\frac{1}{b-a} \int_a^b f(t)dt$  and the value  $f(x)$ ,  $x \in [a, b]$ .

**Theorem 1.1.** Let  $f : [a, b] \rightarrow \mathbb{R}$  be continuous on  $[a, b]$  and differentiable on  $(a, b)$  such that  $f : (a, b) \rightarrow \mathbb{R}$  is bounded on  $(a, b)$ , i.e.,  $\|f'\|_{\infty} := \sup_{t \in (a, b)} |f'(t)| < \infty$ . Then

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t)dt \right| \leq \left[ \frac{1}{4} + \left( \frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right] \|f'\|_{\infty} (b-a),$$

for all  $x \in [a, b]$  and the constant  $\frac{1}{4}$  is the best possible.

Ostrowski inequality is playing a very important role in all the fields of mathematics, especially in the theory of approximations [2, 14, 15, 24, 26]. Thus such inequalities were studied extensively by many researches and numerous generalizations, extensions and variants of them for various kind of functions like bounded variation, synchronous, Lipschitzian, monotonic, absolutely, continuous and  $n$ -times differentiable mappings *etc.* appeared in a number of papers (see [3, 4, 6, 12, 13, 22, 23, 25, 29–31, 33, 43, 44, 46]). In recent years, one more dimension has been added to this studies, by introducing a number of integral inequalities involving various fractional operators like Riemann-Liouville, Erdelyi-Kober, Katugampola,

2010 *Mathematics Subject Classification.* Primary 26A33; Secondary 26D10, 26D15, 33B20

*Keywords.*  $s$ -convex function, Ostrowski inequality, fractional integral operator

Received: 07 June 2017; Revised: 25 December 2017; Accepted: 10 January 2018

Communicated by Ljubiša D.R. Kočinac

Email address: [erhanset@yahoo.com](mailto:erhanset@yahoo.com) (Erhan Set)

conformable fractional integral operators *etc.* by many authors (see, e.g., [1, 8–11, 19, 20, 32, 35, 39]). Riemann-Liouville fractional integral operators are the most central between these fractional operators.

The overall structure of the study takes the form of four sections including introduction. The remaining part of the paper proceeds as follows: In Section 2, the generalized version of fractional integral operator are summarized, along with the needed definitions. In Section 3, firstly, an integral identity for generalized fractional integral operators are proved. Then, some new Ostrowski type inequalities for functions whose first derivatives in absolute value are  $s$ -convex functions in the second sense utilizing this integral identity are presented and some corollary and remarks for theorems are given. Some conclusions of research are discussed in Section 4.

## 2. Preliminaries

In this section, we will give some previously known concepts which will be used in the proof of our main results. First of all let set of real numbers be denoted by  $\mathbb{R}$ . Let  $[a, b]$  be an interval in  $\mathbb{R}$ . We follow these notations throughout the paper unless otherwise specified.

A function  $\varphi : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$  is said to be convex if the inequality

$$\varphi(tx + (1 - t)y) \leq t\varphi(x) + (1 - t)\varphi(y)$$

holds for all  $x, y \in I$  and  $t \in [0, 1]$ .

In [7], the class of functions which are  $s$ -convex in the second sense has been introduced by Breckner as the following:

**Definition 2.1.** A function  $\varphi : [0, \infty) \rightarrow \mathbb{R}$  is said to be  $s$ -convex in the second sense if

$$\varphi(tx + (1 - t)y) \leq t^s\varphi(x) + (1 - t)^s\varphi(y).$$

for all  $x, y \in [0, \infty)$ ,  $t \in [0, 1]$  and for some fixed  $s \in (0, 1]$ . This class of  $s$ -convex functions is usually denoted by  $K_s^2$ .

It can be easily seen that for  $s = 1$ ,  $s$ -convexity reduces to ordinary convexity of functions defined on  $[0, \infty)$ . Also, connections between  $s$ -convexity in the first sense and  $s$ -convexity in the second sense were discussed in paper [18].

In [17] Dragomir and Fitzpatrick proved a variant of the Hermite-Hadamard inequality which holds for  $s$ -convex functions in the second sense.

**Theorem 2.2.** Suppose that  $\varphi : [0, \infty) \rightarrow [0, \infty)$  is an  $s$ -convex function in the second sense, where  $s \in (0, 1]$  and let  $a, b \in [0, \infty)$ ,  $a < b$ . If  $\varphi \in L[a, b]$ , then the following inequality hold:

$$2^{s-1}\varphi\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b \varphi(x) dx \leq \frac{\varphi(a) + \varphi(b)}{s+1} \tag{1}$$

The constant  $k = \frac{1}{s+1}$  is the best possible in the second inequality in (1). For more study related to  $s$ -convexity in the second sense (see, e.g., [4, 5, 16]).

In [34], Raina introduced a class of functions defined formally by

$$\mathcal{F}_{\rho, \lambda}^\sigma(x) = \mathcal{F}_{\rho, \lambda}^{\sigma(0), \sigma(1), \dots}(x) = \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(\rho k + \lambda)} x^k \quad (\rho, \lambda \in \mathbb{R}^+; |x| < \infty), \tag{2}$$

where the coefficients  $\sigma(k)$  ( $k \in \mathbb{N} = \mathbb{N} \cup \{0\}$ ) is a bounded sequence of positive real numbers. With the help of (2), Raina [34] and Agarwal *et al.* [6] defined the following left-sided and right-sided fractional integral operators respectively, as follows:

$$\left(\mathcal{J}_{\rho, \lambda, a+; \omega}^\sigma \varphi\right)(x) = \int_a^x (x-t)^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma[\omega(x-t)^\rho] \varphi(t) dt \quad (x > a), \tag{3}$$

$$(\mathcal{J}_{\rho,\lambda,b^-;w}^\sigma \varphi)(x) = \int_x^b (t-x)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w(t-x)^\rho] \varphi(t) dt \quad (x < b), \tag{4}$$

where  $\lambda, \rho > 0, w \in \mathbb{R}$  and  $\varphi(t)$  is such that the integral on the right side exists.

It is easy to verify that  $\mathcal{J}_{\rho,\lambda,a^+;w}^\sigma \varphi(x)$  and  $\mathcal{J}_{\rho,\lambda,b^-;w}^\sigma \varphi(x)$  are bounded integral operators on  $L(a, b)$ , if

$$\mathfrak{M} := \mathcal{F}_{\rho,\lambda+1}^\sigma [w(b-a)^\rho] < \infty. \tag{5}$$

In fact, for  $\varphi \in L(a, b)$ , we have

$$\|\mathcal{J}_{\rho,\lambda,a^+;w}^\sigma \varphi(x)\|_1 \leq \mathfrak{M}(b-a)^\lambda \|\varphi\|_1 \tag{6}$$

and

$$\|\mathcal{J}_{\rho,\lambda,b^-;w}^\sigma \varphi(x)\|_1 \leq \mathfrak{M}(b-a)^\lambda \|\varphi\|_1, \tag{7}$$

where

$$\|\varphi\|_p := \left( \int_a^b |\varphi(t)|^p dt \right)^{\frac{1}{p}}.$$

The importance of these operators stems indeed from their generality. Many useful fractional integral operators can be obtained by specializing the coefficient  $\sigma(k)$ . For instance the classical Riemann-Liouville fractional integrals  $J_{a^+}^\alpha$  and  $J_{b^-}^\alpha$  of order  $\alpha$  defined by (see, e.g., [37]).

$$J_{a^+}^\alpha \varphi(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} \varphi(t) dt, \quad x > a \tag{8}$$

and

$$J_{b^-}^\alpha \varphi(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} \varphi(t) dt, \quad x < b \tag{9}$$

follow easily by setting  $\lambda = \alpha, \sigma(0) = 1$  and  $w = 0$  in (3) and (4), and the boundedness of (8) and (9) on  $L(a, b)$  is also inherited from (3) and (4), (see [6]). Here  $\Gamma(\alpha)$  is the familiar Gamma function (see, e.g., [42, Section 1.1]). In the case of  $\alpha = 1$ , the Riemann-Liouville fractional integral reduces to the classical integral. Some recent results and properties concerning this operators can be found in [8–11, 21, 27, 36, 38, 40, 41].

We recall the Beta function  $B(\alpha, \beta)$  defined by

$$B(\alpha, \beta) = \begin{cases} \int_0^1 t^{\alpha-1} (1-t)^{\beta-1} dt & (\Re(\alpha) > 0; \Re(\beta) > 0) \\ \frac{\Gamma(\alpha) \Gamma(\beta)}{\Gamma(\alpha + \beta)} & (\alpha, \beta \in \mathbb{C} \setminus \mathbb{Z}_0^-), \end{cases} \tag{10}$$

and the incomplete Beta function  $B_x(\alpha, \beta)$  defined by

$$B(x; \alpha, \beta) := \int_0^x t^{\alpha-1} (1-t)^{\beta-1} dt \quad (\Re(\alpha) > 0), \tag{11}$$

where  $\mathbb{C}$  and  $\mathbb{Z}_0^-$  are the sets of complex numbers and non-positive integers, respectively, (see, e.g., [42, Section 1.1]). Throughout this paper, the  $\alpha, \beta$  in  $B(\alpha, \beta)$  and  $B_x(\alpha, \beta)$  are assumed to be real numbers.

Motivated by the recent results given in [6, 34, 45], in the present note, we obtain here new Ostrowski type inequalities for  $s$ -convex functions in the second sense via generalized fractional integral operators. An interesting feature of our results is that they would provide generalizations of those given in earlier works and new estimates on these types of inequalities.

3. Main Results

**Lemma 3.1.** Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable function on  $(a, b)$  with  $a < b$ . If  $f \in L[a, b]$ , then we have the following identity involving generalized fractional integral operators:

$$\begin{aligned} & \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \\ & - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-\bar{w}}^\sigma f)(a) + (J_{\rho, \lambda, x+\bar{w}}^\sigma f)(b) \right] \\ & = \int_0^1 \mu(t) f'(ta + (1-t)b) dt \end{aligned} \tag{12}$$

for each  $t \in [0, 1]$ , where  $\lambda, \rho > 0, w \in \mathbb{R}$  and

$$\mu(t) = \begin{cases} -t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho t^\rho] & , \quad t \in [0, \frac{b-x}{b-a}] \\ (1-t)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho (1-t)^\rho] & , \quad t \in [\frac{b-x}{b-a}, 1]. \end{cases}$$

for all  $x \in [a, b]$ .

*Proof.* Integrating by parts, we get

$$\begin{aligned} \xi &= \int_0^1 \mu(t) f'(ta + (1-t)b) dt \\ &= \int_0^{\frac{b-x}{b-a}} (-t^\lambda) \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho t^\rho] f'(ta + (1-t)b) dt \\ &\quad + \int_{\frac{b-x}{b-a}}^1 (1-t)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho (1-t)^\rho] f'(ta + (1-t)b) dt \\ &= (-t^\lambda) \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho t^\rho] \frac{f(ta + (1-t)b)}{a-b} \Big|_0^{\frac{b-x}{b-a}} \\ &\quad + \int_0^{\frac{b-x}{b-a}} t^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma [w(b-a)^\rho t^\rho] \frac{f(ta + (1-t)b)}{a-b} dt \\ &\quad + t(1-t)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho (1-t)^\rho] \frac{f(ta + (1-t)b)}{a-b} \Big|_{\frac{b-x}{b-a}}^1 \\ &\quad - \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda-1} \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho (1-t)^\rho] \frac{f(ta + (1-t)b)}{a-b} dt \\ &= \left( \frac{b-x}{b-a} \right)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] \frac{f(x)}{b-a} \\ &\quad - \frac{1}{b-a} \int_0^{\frac{b-x}{b-a}} t^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma [w(b-a)^\rho t^\rho] f(ta + (1-t)b) dt \\ &\quad + \left( \frac{x-a}{b-a} \right)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho] \frac{f(x)}{b-a} \\ &\quad + \frac{1}{b-a} \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma [w(b-a)^\rho (1-t)^\rho] f(ta + (1-t)b) dt. \end{aligned}$$

Using the change of the variable  $u = ta + (1 - t)b$  for  $t \in [0, 1]$ , we have

$$\begin{aligned} \xi &= \frac{(b-x)^\lambda}{(b-a)^{\lambda+1}} \mathcal{F}_{\rho,\lambda+1}^\sigma [w(b-x)^\rho] f(x) \\ &\quad - \frac{1}{(b-a)^{\lambda+1}} \int_x^b (b-u)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w(b-u)^\rho] f(u) du \\ &\quad + \frac{(x-a)^\lambda}{(b-a)^{\lambda+1}} \mathcal{F}_{\rho,\lambda+1}^\sigma [w(x-a)^\rho] f(x) \\ &\quad - \frac{1}{(b-a)^{\lambda+1}} \int_a^x (u-a)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma [w(u-a)^\rho] f(u) du \\ &= \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \\ &\quad - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho,\lambda,x^-;w}^\sigma f)(a) + (J_{\rho,\lambda,x^+;w}^\sigma f)(b) \right]. \end{aligned}$$

So, the proof is completed.  $\square$

**Remark 3.2.** In Lemma 3.1, let  $\lambda = \alpha$ ,  $\sigma(0) = 1$  and  $w = 1$ . Then Lemma 3.1 reduces to Lemma 1.2 in [45].

**Theorem 3.3.** Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable function on  $(a, b)$  with  $a < b$  such that  $f' \in L[a, b]$ . If  $|f'|$  is  $s$ -convex function in the second sense on  $[a, b]$ , for some fixed  $s \in (0, 1]$ , then the following inequality for generalized fractional integral operators holds:

$$\begin{aligned} &\left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ &\quad \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho,\lambda,x^-;w}^\sigma f)(a) + (J_{\rho,\lambda,x^+;w}^\sigma f)(b) \right] \right| \\ &\leq \left[ \frac{(b-x)^{\lambda+s+1}}{(b-a)^{\lambda+s+1}} \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} [|w|(b-x)^\rho] + \mathcal{F}_{\rho,\lambda+1}^{\sigma_2} [|w|(b-a)^\rho] \right] |f'(a)| \\ &\quad + \left[ \frac{(x-a)^{\lambda+s+1}}{(b-a)^{\lambda+s+1}} \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} [|w|(x-a)^\rho] + \mathcal{F}_{\rho,\lambda+1}^{\sigma_3} [|w|(b-a)^\rho] \right] |f'(b)| \end{aligned}$$

where  $\lambda, \rho > 0$ ,  $w \in \mathbb{R}$ ,  $k = 0, 1, 2, \dots$ ,  $B(x; a, b)$  is incompleted beta function and

$$\sigma_1(k) := \sigma(k) \frac{1}{\lambda + \rho k + s + 1},$$

$$\sigma_2(k) := \sigma(k) B\left(\frac{x-a}{b-a}; \lambda + \rho k + 1, s + 1\right),$$

$$\sigma_3(k) := \sigma(k) B\left(\frac{b-x}{b-a}; \lambda + \rho k + 1, s + 1\right).$$

*Proof.* From Lemma 3.1 and by using the properties of modulus, we have

$$\begin{aligned} & \left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-; w}^\sigma f)(a) + (J_{\rho, \lambda, x+; w}^\sigma f)(b) \right] \right| \\ & \leq \int_0^{\frac{b-x}{b-a}} | -t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho t^\rho] | f'(ta + (1-t)b) | dt \\ & \quad + \int_{\frac{b-x}{b-a}}^1 | 1-t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho (1-t)^\rho] | f'(ta + (1-t)b) | dt. \end{aligned}$$

Since  $|f'|$  is  $s$ -convex in the second sense on  $[a, b]$ , we get

$$\begin{aligned} & \left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-; w}^\sigma f)(a) + (J_{\rho, \lambda, x+; w}^\sigma f)(b) \right] \right| \\ & \leq \int_0^{\frac{b-x}{b-a}} t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho t^\rho] [t^s |f'(a)| + (1-t)^s |f'(b)|] dt \\ & \quad + \int_{\frac{b-x}{b-a}}^1 (1-t)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho (1-t)^\rho] [t^s |f'(a)| + (1-t)^s |f'(b)|] dt \\ & = |f'(a)| \int_0^{\frac{b-x}{b-a}} t^{\lambda+s} \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho t^\rho] dt \\ & \quad + |f'(b)| \int_0^{\frac{b-x}{b-a}} t^\lambda (1-t)^s \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho t^\rho] dt \\ & \quad + |f'(a)| \int_{\frac{b-x}{b-a}}^1 (1-t)^\lambda t^s \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho (1-t)^\rho] dt \\ & \quad + |f'(b)| \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda+s} \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho (1-t)^\rho] dt \\ & = |f'(a)| \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \int_0^{\frac{b-x}{b-a}} t^{\lambda+\rho k+s} dt \\ & \quad + |f'(b)| \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \int_0^{\frac{b-x}{b-a}} t^{\lambda+\rho k} (1-t)^s dt \\ & \quad + |f'(a)| \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \int_{\frac{b-x}{b-a}}^1 t^s (1-t)^{\lambda+\rho k} dt \\ & \quad + |f'(b)| \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda+\rho k+s} dt \end{aligned}$$

$$\begin{aligned}
 &= |f'(a)| \left[ \frac{(b-x)^{\lambda+s+1}}{(b-a)^{\lambda+s+1}} \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} [|w|(b-x)^\rho] + \mathcal{F}_{\rho,\lambda+1}^{\sigma_2} [|w|(b-a)^\rho] \right] \\
 &+ |f'(b)| \left[ \frac{(x-a)^{\lambda+s+1}}{(b-a)^{\lambda+s+1}} \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} [|w|(x-a)^\rho] + \mathcal{F}_{\rho,\lambda+1}^{\sigma_3} [|w|(b-a)^\rho] \right]
 \end{aligned}$$

where used the facts that

$$\begin{aligned}
 \int_{\frac{b-x}{b-a}}^1 t^s (1-t)^{\lambda+\rho k} dt &= B\left(\frac{x-a}{b-a}; \lambda + \rho k + 1, s + 1\right) \\
 \int_0^{\frac{b-x}{b-a}} t^{\lambda+\rho k+s} dt &= \frac{(b-x)^{\lambda+\rho k+s+1}}{(b-a)^{\lambda+\rho k+s+1}} \frac{1}{\lambda + \rho k + s + 1} \\
 \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda+\rho k+s} dt &= \frac{(x-a)^{\lambda+\rho k+s+1}}{(b-a)^{\lambda+\rho k+s+1}} \frac{1}{\lambda + \rho k + s + 1} \\
 \int_0^{\frac{b-x}{b-a}} t^{\lambda+\rho k} (1-t)^s dt &= B\left(\frac{b-x}{b-a}; \lambda + \rho k + 1, s + 1\right).
 \end{aligned}$$

So, the proof is completed.  $\square$

**Corollary 3.4.** *If we choose  $s = 1$  in Theorem 3.3, we obtain*

$$\begin{aligned}
 &\left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\
 &\quad \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho,\lambda,x^-;w}^\sigma f)(a) + (J_{\rho,\lambda,x^+;w}^\sigma f)(b) \right] \right| \\
 &\leq \left[ \frac{(b-x)^{\lambda+2}}{(b-a)^{\lambda+2}} \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} [|w|(b-x)^\rho] + \mathcal{F}_{\rho,\lambda+1}^{\sigma_2} [|w|(b-a)^\rho] \right] |f'(a)| \\
 &+ \left[ \frac{(x-a)^{\lambda+2}}{(b-a)^{\lambda+2}} \mathcal{F}_{\rho,\lambda+1}^{\sigma_1} [|w|(x-a)^\rho] + \mathcal{F}_{\rho,\lambda+1}^{\sigma_3} [|w|(b-a)^\rho] \right] |f'(b)|
 \end{aligned} \tag{13}$$

where

$$\sigma_1(k) := \sigma(k) \frac{1}{\lambda + \rho k + 2},$$

$$\sigma_2(k) := \sigma(k) B\left(\frac{x-a}{b-a}; \lambda + \rho k + 1, 2\right)$$

and

$$\sigma_3(k) := \sigma(k) B\left(\frac{b-x}{b-a}; \lambda + \rho k + 1, 2\right).$$

**Remark 3.5.** If we choose  $\sigma(0) = 1$ ,  $w = 0$  in Corollary 3.3, the inequality (13) reduces to inequality (2.1) of Theorem 2.1 in [45].

**Theorem 3.6.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable function on  $(a, b)$  with  $a < b$  such that  $f' \in L[a, b]$ . If  $|f'|^q$  is  $s$ -convex function in the second sense on  $[a, b]$ , for some fixed  $s \in (0, 1]$ ,  $q > 1$  with  $\frac{1}{p} + \frac{1}{q} = 1$ , then the following*

inequality for generalized fractional integral operators holds:

$$\begin{aligned} & \left\| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-w}^\sigma f)(a) + (J_{\rho, \lambda, x+w}^\sigma f)(b) \right] \right\| \\ & \leq \mathcal{F}_{\rho, \lambda+1}^{\sigma_2} [w(b-x)^\rho] \left( \frac{b-x}{b-a} \right)^{\lambda+1} \left( \frac{|f'(x)|^q + |f'(b)|^q}{s+1} \right)^{\frac{1}{q}} \\ & \quad + \mathcal{F}_{\rho, \lambda+1}^{\sigma_2} [w(x-a)^\rho] \left( \frac{x-a}{b-a} \right)^{\lambda+1} \left( \frac{|f'(a)|^q + |f'(x)|^q}{s+1} \right)^{\frac{1}{q}} \end{aligned}$$

where  $x \in [a, b]$ ,  $\lambda, \rho > 0$ ,  $w \in \mathbb{R}$ , and

$$\sigma_2(k) := \sigma(k) \left( \frac{1}{[\lambda + \rho k]p + 1} \right)^{\frac{1}{p}}.$$

*Proof.* From Lemma 3.1 and using the Hölder inequality, we get

$$\begin{aligned} & \left\| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-w}^\sigma f)(a) + (J_{\rho, \lambda, x+w}^\sigma f)(b) \right] \right\| \\ & \leq \int_0^{\frac{b-x}{b-a}} t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho t^\rho] |f'(ta + (1-t)b)| dt \\ & \quad + \int_{\frac{b-x}{b-a}}^1 (1-t)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho (1-t)^\rho] |f'(ta + (1-t)b)| dt \\ & = \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \left[ \int_0^{\frac{b-x}{b-a}} t^{\lambda + \rho k} |f'(ta + (1-t)b)| dt \right. \\ & \quad \left. + \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda + \rho k} |f'(ta + (1-t)b)| dt \right] \\ & \leq \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \left[ \left( \int_0^{\frac{b-x}{b-a}} t^{[\lambda + \rho k]p} \right)^{\frac{1}{p}} \left( \int_0^{\frac{b-x}{b-a}} |f'(ta + (1-t)b)|^q dt \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left( \int_{\frac{b-x}{b-a}}^1 (1-t)^{[\lambda + \rho k]p} \right)^{\frac{1}{p}} \left( \int_{\frac{b-x}{b-a}}^1 |f'(ta + (1-t)b)|^q dt \right)^{\frac{1}{q}} \right]. \end{aligned}$$

Since  $|f'|$  is  $s$ -convex in the second sense on  $[a, b]$ , by the inequality (1) we have

$$\int_0^{\frac{b-x}{b-a}} |f'(ta + (1-t)b)|^q dt \leq \left( \frac{b-x}{b-a} \right) \left[ \frac{|f'(x)|^q + |f'(b)|^q}{s+1} \right]$$

and

$$\int_{\frac{b-x}{b-a}}^1 |f'(ta + (1-t)b)|^q dt \leq \left( \frac{x-a}{b-a} \right) \left[ \frac{|f'(a)|^q + |f'(x)|^q}{s+1} \right].$$



Also, by simple computation, we obtain

$$\int_0^{\frac{b-x}{b-a}} t^{[\lambda+\rho k]p} dt = \frac{1}{[\lambda + \rho k]p + 1} \left(\frac{b-x}{b-a}\right)^{[\lambda+\rho k]p+1}$$

and

$$\int_{\frac{b-x}{b-a}}^1 (1-t)^{[\lambda+\rho k]p} dt = \frac{1}{[\lambda + \rho k]p + 1} \left(\frac{x-a}{b-a}\right)^{[\lambda+\rho k]p+1}.$$

We, therefore, get

$$\begin{aligned} & \left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma[w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho,\lambda,x-;w}^\sigma f)(a) + (J_{\rho,\lambda,x+;w}^\sigma f)(b) \right] \right| \\ & \leq \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \\ & \quad \times \left[ \left[ \frac{1}{[\lambda + \rho k]p + 1} \right]^{\frac{1}{p}} \left(\frac{b-x}{b-a}\right)^{\lambda+\rho k+\frac{1}{p}} \left(\frac{b-x}{b-a}\right)^{\frac{1}{q}} \left[ \frac{|f'(x)|^q + |f'(b)|^q}{s+1} \right]^{\frac{1}{q}} \right. \\ & \quad \left. + \left[ \frac{1}{[\lambda + \rho k]p + 1} \right]^{\frac{1}{p}} \left(\frac{x-a}{b-a}\right)^{\lambda+\rho k+\frac{1}{p}} \left(\frac{x-a}{b-a}\right)^{\frac{1}{q}} \left[ \frac{|f'(a)|^q + |f'(x)|^q}{s+1} \right]^{\frac{1}{q}} \right] \\ & = \mathcal{F}_{\rho,\lambda+1}^{\sigma_2} [ |w|(b-x)^\rho ] \left(\frac{b-x}{b-a}\right)^{\lambda+1} \left( \frac{|f'(x)|^q + |f'(b)|^q}{s+1} \right)^{\frac{1}{q}} \\ & \quad + \mathcal{F}_{\rho,\lambda+1}^{\sigma_2} [ |w|(x-a)^\rho ] \left(\frac{x-a}{b-a}\right)^{\lambda+1} \left( \frac{|f'(a)|^q + |f'(x)|^q}{s+1} \right)^{\frac{1}{q}}. \end{aligned}$$

So, the proof is completed.  $\square$

**Corollary 3.7.** *If we choose  $s = 1$  in Theorem 3.6, we obtain*

$$\begin{aligned} & \left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma[w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho,\lambda,x-;w}^\sigma f)(a) + (J_{\rho,\lambda,x+;w}^\sigma f)(b) \right] \right| \tag{14} \\ & \leq \mathcal{F}_{\rho,\lambda+1}^{\sigma_2} [ |w|(b-x)^\rho ] \left(\frac{b-x}{b-a}\right)^{\lambda+1} \left( \frac{|f'(x)|^q + |f'(b)|^q}{2} \right)^{\frac{1}{q}} \\ & \quad + \mathcal{F}_{\rho,\lambda+1}^{\sigma_2} [ |w|(x-a)^\rho ] \left(\frac{x-a}{b-a}\right)^{\lambda+1} \left( \frac{|f'(a)|^q + |f'(x)|^q}{2} \right)^{\frac{1}{q}} \end{aligned}$$

where  $\lambda, \rho > 0, w \in \mathbb{R}$  and

$$\sigma_2(k) := \sigma(k) \left( \frac{1}{[\lambda + \rho k]p + 1} \right)^{\frac{1}{p}}.$$

**Remark 3.8.** If we choose  $\sigma(0) = 1, w = 0$  in Corollary 3.7, the inequality (14) reduces to inequality (2.3) of Theorem 2.2 in [45].

**Theorem 3.9.** Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable function on  $(a, b)$  with  $a < b$  such that  $f' \in L[a, b]$ . If  $|f'|^q$  is  $s$ -convex function in the second sense on  $[a, b]$ , for some fixed  $s \in (0, 1]$ ,  $q \geq 1$  and  $x \in [a, b]$  then the following inequality for generalized fractional integral operators hold:

$$\begin{aligned} & \left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-; w}^\sigma f)(a) + (J_{\rho, \lambda, x+; w}^\sigma f)(b) \right] \right| \\ & \leq \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_3} [ |w|(b-x)^\rho ] \right)^{1-\frac{1}{q}} \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_4} [ |w|(b-x)^\rho ] |f'(a)|^q + \mathcal{F}_{\rho, \lambda+1}^{\sigma_5} [ |w|(b-x)^\rho ] |f'(b)|^q \right)^{\frac{1}{q}} \\ & \quad + \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_6} [ |w|(x-a)^\rho ] \right)^{1-\frac{1}{q}} \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_7} [ |w|(x-a)^\rho ] |f'(a)|^q + \mathcal{F}_{\rho, \lambda+1}^{\sigma_8} [ |w|(x-a)^\rho ] |f'(b)|^q \right)^{\frac{1}{q}}, \end{aligned}$$

where  $\lambda, \rho > 0$ ,  $w \in \mathbb{R}$ ,  $k = 0, 1, 2, \dots$ ,  $B(x; a, b)$  is incomplete beta function and

$$\begin{aligned} \sigma_3(k) &:= \sigma(k) \left( \frac{b-x}{b-a} \right) \frac{1}{\rho k + 1}, & \sigma_4(k) &:= \sigma(k) \left( \frac{b-x}{b-a} \right)^{\lambda q + s + 1} \frac{1}{\lambda q + s + 1}, \\ \sigma_5(k) &:= \sigma(k) B \left( \frac{b-x}{b-a}; \lambda q + \rho k + 1, s + 1 \right), & \sigma_6(k) &:= \sigma(k) \left( \frac{x-a}{b-a} \right) \frac{1}{\rho k + 1}, \\ \sigma_7(k) &:= \sigma(k) B \left( \frac{x-a}{b-a}; \lambda q + \rho k + 1, s + 1 \right), & \sigma_8(k) &:= \sigma(k) \left( \frac{x-a}{b-a} \right)^{\lambda q + s + 1} \frac{1}{\lambda q + s + 1}. \end{aligned}$$

*Proof.* From Lemma 3.1, using  $|f'|^q$  is  $s$ -convex in the second sense and the well-known power mean inequality, we get

$$\begin{aligned} & \left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-; w}^\sigma f)(a) + (J_{\rho, \lambda, x+; w}^\sigma f)(b) \right] \right| \\ & \leq \int_0^{\frac{b-x}{b-a}} t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [ |w|(b-a)^\rho t^\rho ] |f'(ta + (1-t)b)| dt \\ & \quad + \int_{\frac{b-x}{b-a}}^1 (1-t)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [ |w|(b-a)^\rho (1-t)^\rho ] |f'(ta + (1-t)b)| dt \end{aligned}$$

$$\begin{aligned}
 &\leq \left( \int_0^{\frac{b-x}{b-a}} \mathcal{F}_{\rho, \lambda+1}^\sigma [ |w|(b-a)^\rho t^\rho ] dt \right)^{1-\frac{1}{q}} \\
 &\quad \times \left( \int_0^{\frac{b-x}{b-a}} \mathcal{F}_{\rho, \lambda+1}^\sigma [ |w|(b-a)^\rho t^\rho ] t^{\lambda q} |f'(ta + (1-t)b)|^q dt \right)^{\frac{1}{q}} \\
 &\quad + \left( \int_{\frac{b-x}{b-a}}^1 \mathcal{F}_{\rho, \lambda+1}^\sigma [ |w|(b-a)^\rho (1-t)^\rho ] dt \right)^{1-\frac{1}{q}} \\
 &\quad \times \left( \int_{\frac{b-x}{b-a}}^1 \mathcal{F}_{\rho, \lambda+1}^\sigma [ |w|(b-a)^\rho (1-t)^\rho ] (1-t)^{\lambda q} |f'(ta + (1-t)b)|^q dt \right)^{\frac{1}{q}} \\
 &\leq \left( \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \int_0^{\frac{b-x}{b-a}} t^{\rho k} dt \right)^{1-\frac{1}{q}} \\
 &\quad \times \left( \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \int_0^{\frac{b-x}{b-a}} t^{\lambda q + \rho k} [t^s |f'(a)|^q + (1-t)^s |f'(b)|^q] dt \right)^{\frac{1}{q}} \\
 &\quad + \left( \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \int_{\frac{b-x}{b-a}}^1 (1-t)^{\rho k} dt \right)^{1-\frac{1}{q}} \\
 &\quad \times \left( \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda q + \rho k} [t^s |f'(a)|^q + (1-t)^s |f'(b)|^q] dt \right)^{\frac{1}{q}} \\
 &= \left( \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \frac{(b-x)^{\rho k+1}}{(b-a)^{\rho k+1} (\rho k + 1)} \right)^{1-\frac{1}{q}} \\
 &\quad \times \left( \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \left[ |f'(a)|^q \int_0^{\frac{b-x}{b-a}} t^{\lambda q + \rho k + s} dt + |f'(b)|^q \int_0^{\frac{b-x}{b-a}} t^{\lambda q + \rho k} (1-t)^s dt \right] \right)^{\frac{1}{q}} \\
 &\quad + \left( \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \frac{(x-a)^{\rho k+1}}{(b-a)^{\rho k+1} (\rho k + 1)} \right)^{1-\frac{1}{q}} \\
 &\quad \times \left( \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \left[ |f'(a)|^q \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda q + \rho k} t^s dt + |f'(b)|^q \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda q + \rho k + s} dt \right] \right)^{\frac{1}{q}} \\
 &= \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_3} [ |w|(b-x)^\rho ] \right)^{1-\frac{1}{q}} \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_4} [ |w|(b-x)^\rho ] |f'(a)|^q + \mathcal{F}_{\rho, \lambda+1}^{\sigma_5} [ |w|(b-x)^\rho ] |f'(b)|^q \right)^{\frac{1}{q}} \\
 &\quad + \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_6} [ |w|(x-a)^\rho ] \right)^{1-\frac{1}{q}} \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_7} [ |w|(x-a)^\rho ] |f'(a)|^q + \mathcal{F}_{\rho, \lambda+1}^{\sigma_8} [ |w|(x-a)^\rho ] |f'(b)|^q \right)^{\frac{1}{q}},
 \end{aligned}$$

where it is easily seen that

$$\begin{aligned}
 \int_0^{\frac{b-x}{b-a}} t^{\rho k} dt &= \left( \frac{b-x}{b-a} \right)^{\rho k+1} \frac{1}{\rho k + 1}, \\
 \int_0^{\frac{b-x}{b-a}} t^{\lambda q + \rho k + s} dt &= \left( \frac{b-x}{b-a} \right)^{\lambda q + \rho k + s + 1} \frac{1}{\lambda q + \rho k + s + 1},
 \end{aligned}$$

$$\int_{\frac{b-x}{b-a}}^1 (1-t)^{\rho k} dt = \left(\frac{x-a}{b-a}\right)^{\rho k+1} \frac{1}{\rho k+1},$$

$$\int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda q + \rho k + s} dt = \left(\frac{x-a}{b-a}\right)^{\lambda q + \rho k + s + 1} \frac{1}{\lambda q + \rho k + s + 1},$$

$$\int_0^{\frac{b-x}{b-a}} t^{\lambda + \rho k} (1-t)^s dt = B\left(\frac{b-x}{b-a}; \lambda + \rho k + 1, s + 1\right),$$

$$\int_{\frac{b-x}{b-a}}^1 t^s (1-t)^{\lambda + \rho k} dt = B\left(\frac{x-a}{b-a}; \lambda + \rho k + 1, s + 1\right).$$

Hence the proof is completed.  $\square$

**Corollary 3.10.** *If we choose  $s = 1$  in Theorem 3.9, we obtain*

$$\left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \tag{15}$$

$$\left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-w}^\sigma f)(a) + (J_{\rho, \lambda, x+w}^\sigma f)(b) \right] \right|$$

$$\leq \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_3} [ |w|(b-x)^\rho ] \right)^{1-\frac{1}{q}} \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_4} [ |w|(b-x)^\rho ] |f'(a)|^q + \mathcal{F}_{\rho, \lambda+1}^{\sigma_5} [ |w|(b-x)^\rho ] |f'(b)|^q \right)^{\frac{1}{q}}$$

$$+ \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_6} [ |w|(x-a)^\rho ] \right)^{1-\frac{1}{q}} \left( \mathcal{F}_{\rho, \lambda+1}^{\sigma_7} [ |w|(x-a)^\rho ] |f'(a)|^q + \mathcal{F}_{\rho, \lambda+1}^{\sigma_8} [ |w|(x-a)^\rho ] |f'(b)|^q \right)^{\frac{1}{q}}$$

where

$$\sigma_3(k) := \sigma(k) \left(\frac{b-x}{b-a}\right) \frac{1}{\rho k+1}, \quad \sigma_4(k) := \sigma(k) \left(\frac{b-x}{b-a}\right)^{\lambda q+2} \frac{1}{\lambda q+2},$$

$$\sigma_5(k) := \sigma(k) B\left(\frac{b-x}{b-a}; \lambda q + \rho k + 1, 2\right), \quad \sigma_6(k) := \sigma(k) \left(\frac{x-a}{b-a}\right) \frac{1}{\rho k+1},$$

$$\sigma_7(k) := \sigma(k) B\left(\frac{x-a}{b-a}; \lambda q + \rho k + 1, 2\right), \quad \sigma_8(k) := \sigma(k) \left(\frac{x-a}{b-a}\right)^{\lambda q+2} \frac{1}{\lambda q+2}.$$

**Remark 3.11.** If we choose  $\sigma(0) = 1, w = 0$  in Corollary 3.10, the inequality (15) reduces to inequality (2.4) of Theorem 2.3 in [45].

**Theorem 3.12.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable function on  $(a, b)$  with  $a < b$  such that  $f' \in L[a, b]$ . If  $|f'|^q$  is  $s$ -convex function in the second sense on  $[a, b]$ , for some fixed  $s \in (0, 1], q > 1$  with  $\frac{1}{p} + \frac{1}{q} = 1$ , then the following inequality for generalized fractional integral operators hold:*

$$\left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \tag{16}$$

$$\left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-w}^\sigma f)(a) + (J_{\rho, \lambda, x+w}^\sigma f)(b) \right] \right|$$

$$\leq \mathcal{F}_{\rho, \lambda+1}^{\sigma_1} [ |w|(b-x)^\rho ] \left(\frac{b-x}{b-a}\right)^{\lambda+1} \left| f' \left( \frac{b+x}{2} \right) \right|$$

$$+ \mathcal{F}_{\rho, \lambda+1}^{\sigma_1} [ |w|(x-a)^\rho ] \left(\frac{x-a}{b-a}\right)^{\lambda+1} \left| f' \left( \frac{a+x}{2} \right) \right|$$

where  $\lambda, \rho > 0, w \in \mathbb{R}$  and

$$\sigma_1(k) := \sigma(k)2^{(s-1)\frac{1}{q}} \left( \frac{1}{[\lambda + \rho k]p + 1} \right)^{\frac{1}{p}}.$$

*Proof.* From Lemma 3.1 and using the Hölder inequality, we get

$$\begin{aligned} & \left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-; w}^\sigma f)(a) + (J_{\rho, \lambda, x+; w}^\sigma f)(b) \right] \right| \\ & \leq \int_0^{\frac{b-x}{b-a}} t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [ |w|(b-a)^\rho t^\rho ] |f'(ta + (1-t)b)| dt \\ & \quad + \int_{\frac{b-x}{b-a}}^1 (1-t)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [ |w|(b-a)^\rho (1-t)^\rho ] |f'(ta + (1-t)b)| dt \\ & = \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \left[ \int_0^{\frac{b-x}{b-a}} t^{\lambda + \rho k} |f'(ta + (1-t)b)| dt \right. \\ & \quad \left. + \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda + \rho k} |f'(ta + (1-t)b)| dt \right] \\ & \leq \sum_{k=0}^\infty \frac{\sigma(k) |w|^k (b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \left[ \left( \int_0^{\frac{b-x}{b-a}} t^{\lambda + \rho k p} dt \right)^{\frac{1}{p}} \left( \int_0^{\frac{b-x}{b-a}} |f'(ta + (1-t)b)|^q dt \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left( \int_{\frac{b-x}{b-a}}^1 (1-t)^{\lambda + \rho k p} dt \right)^{\frac{1}{p}} \left( \int_{\frac{b-x}{b-a}}^1 |f'(ta + (1-t)b)|^q dt \right)^{\frac{1}{q}} \right]. \end{aligned}$$

Since  $|f'|$  is  $s$ -convex in the second sense on  $[a, b]$ , by the inequality (1) we have

$$\int_0^{\frac{b-x}{b-a}} |f'(ta + (1-t)b)|^q dt \leq 2^{s-1} \left( \frac{b-x}{b-a} \right) \left| f' \left( \frac{b+x}{2} \right) \right|^q$$

and

$$\int_{\frac{b-x}{b-a}}^1 |f'(ta + (1-t)b)|^q dt \leq 2^{s-1} \left( \frac{x-a}{b-a} \right) \left| f' \left( \frac{a+x}{2} \right) \right|^q.$$

Therefore

$$\begin{aligned} & \left| \left[ \frac{(b-x)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho] + (x-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(b-a)^{\lambda+1}} \right] f(x) \right. \\ & \left. - \frac{1}{(b-a)^{\lambda+1}} \left[ (J_{\rho, \lambda, x-; w}^\sigma f)(a) + (J_{\rho, \lambda, x+; w}^\sigma f)(b) \right] \right| \end{aligned}$$

$$\begin{aligned}
&\leq \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(b-a)^{\rho k}}{\Gamma(\lambda + \rho k + 1)} \\
&\quad \times \left[ \left[ \frac{1}{[\lambda + \rho k]p + 1} \right]^{\frac{1}{p}} \left( \frac{b-x}{b-a} \right)^{\lambda + \rho k + \frac{1}{p}} \left( \frac{b-x}{b-a} \right)^{\frac{1}{q}} 2^{(s-1)\frac{1}{q}} \left| f' \left( \frac{b+x}{2} \right) \right| \right. \\
&\quad \left. + \left[ \frac{1}{[\lambda + \rho k]p + 1} \right]^{\frac{1}{p}} \left( \frac{x-a}{b-a} \right)^{\lambda + \rho k + \frac{1}{p}} \left( \frac{x-a}{b-a} \right)^{\frac{1}{q}} 2^{(s-1)\frac{1}{q}} \left| f' \left( \frac{a+x}{2} \right) \right| \right] \\
&= \mathcal{F}_{\rho, \lambda+1}^{\sigma_1} [|w|(b-x)^{\rho}] \left( \frac{b-x}{b-a} \right)^{\lambda+1} \left| f' \left( \frac{b+x}{2} \right) \right| \\
&\quad + \mathcal{F}_{\rho, \lambda+1}^{\sigma_1} [|w|(x-a)^{\rho}] \left( \frac{x-a}{b-a} \right)^{\lambda+1} \left| f' \left( \frac{a+x}{2} \right) \right|.
\end{aligned}$$

So, the proof is completed.  $\square$

**Remark 3.13.** If we choose  $\sigma(0) = 1$ ,  $w = 0$  and  $s = 1$  in Theorem 3.12, the inequality (16) reduces to inequality (2.8) of Theorem 2.4 in [45].

#### 4. Conclusion

In this paper, we established the Ostrowski type inequalities for mappings whose first derivatives in absolute value are  $s$ -convex in the second sense involving generalised fractional integral operator. The results presented in this paper would provide generalizations of those given in earlier works.

#### References

- [1] T. Abdeljawad, On conformable fractional calculus, *J. Comput. Appl. Math.* 279 (2015) 57–66.
- [2] M. Ahmadmir, R. Ullah, Some inequalities of Ostrowski and Grüss type for triple integrals on time scales, *Tamkang J. Math.* 42 (2011) 415–426.
- [3] M.W. Alomari, Two-point Ostrowski's inequality, *Results Math.* 72 (2017) 1499–1523.
- [4] M. Alomari, M. Darus, S.S. Dragomir, P. Cerone, Ostrowski type inequalities for functions whose derivatives are  $s$ -convex in the second sense, *Appl. Math. Lett.* 23 (2010) 1071–1076.
- [5] M. Avci, H. Kavurmaci, M.E. Özdemir, New inequalities of Hermite–Hadamard type via  $s$ -convex functions in the second sense with applications, *Appl. Math. Comput.* 217 (2011) 5171–5176.
- [6] R.P. Agarwal, M.-J. Lu, R.K. Raina, On Ostrowski type inequalities, *Fasciculi Math.* 204 (2016) 5–27.
- [7] W. W. Breckner, Stetigkeitsaussagen für eine Klasse verallgemeinerter konvexer funktionen in topologischen linearen Raumen, *Pupl. Inst. Math.* 23 (1978) 13–20.
- [8] Z. Dahmani, New inequalities in fractional integrals, *Int. J. Nonlinear Sci.* 9 (2010) 493–497.
- [9] Z. Dahmani, L. Tabharit, S. Taf, Some fractional integral inequalities, *Nonlinear. Sci. Lett. A* 1 (2010) 155–160.
- [10] Z. Dahmani, On Minkowski and Hermite–Hadamard integral inequalities via fractional integration, *Ann. Funct. Anal.* 1 (2010) 51–58.
- [11] Z. Dahmani, L. Tabharit, S. Taf, New generalizations of Grüss inequality using Riemann–Liouville fractional integrals, *Bull. Math. Anal. Appl.* 2:3 (2010) 93–99.
- [12] S.S. Dragomir, On the Ostrowski's integral inequality for mappings with bounded variation and applications, *Math. Ineq. Appl.* 1(2) (1998).
- [13] S.S. Dragomir, The Ostrowski integral inequality for Lipschitzian mappings and applications, *Comput. Math. Appl.* 38 (1999) 33–37.
- [14] S.S. Dragomir, S. Wang, A new inequality of Ostrowski's type in  $L_1$ -norm and applications to some special means and to some numerical quadrature rules, *Tamkang J. Math.* 28 (1997) 239–244.
- [15] S.S. Dragomir, S. Wang, An inequality of Ostrowski–Grüss type and its applications to the estimation of error bounds for some special means and for some numerical quadrature rules, *Comput. Math. Appl.* 13:11 (1997) 15–20.
- [16] S.S. Dragomir, R.R. Agarwal, *The Hadamard's inequality for s-convex functions in the second sense*, *Demonstratio Math.* 32 (1999) 687–696.
- [17] S.S. Dragomir, S. Fitzpatrick, Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula, *Appl. Math. Lett.* 11:5 (1998) 91–95.
- [18] H. Hudzik and L. Maligranda, Some remarks on  $s$ -convex functions, *Aequationes Math.* 48 (1994) 100–111.
- [19] U.N. Katugampola, A new approach to generalized fractional derivatives, *Bull. Math. Anal. Appl.* 6:4 (2014) 1–15.

- [20] R. Khalil, M. Al Horani, A. Yousef, M. Sababheh, A new definition of fractional derivative, *J. Comput. Appl. Math.* 264 (2014) 65–70.
- [21] W. Liu, Ostrowski type fractional integral inequalities for  $MT$ -convex functions, *Miskolc Math. Notes* 16 (2015) 249–256.
- [22] W. Liu, W. Wen, Some generalizations of different type of integral inequalities for  $MT$ -convex functions, *Filomat* 30 (2016) 333–342.
- [23] W. Liu, J. Park, A companion of Ostrowski like inequality and applications to composite quadrature rules, *J. Comput. Anal. Appl.* 22 (2017) 19–24.
- [24] Z. Liu, Some companions of an Ostrowski type inequality and applications, *J. Inequal. Pure Appl. Math.* 10:2 (2009), Art. 52, 12 pages.
- [25] Z. Liu, Some Ostrowski-Grüss type inequalities and applications, *Comput. Math. Appl.* 53 (2007) 73–79.
- [26] D.S. Mitrinović, J.E. Pecaric, A.M. Fink, *Classical and New Inequalities in Analysis*, Kluwer Academic Publishers, Dordrecht, 1993.
- [27] M.A. Noor, K.I. Noor, M.U. Awan, Fractional Ostrowski inequalities for  $(s, m)$ -Godunova-Levin functions, *Facta Univ. Ser. Math. Inform.* 30 (2015) 489–499.
- [28] A.M. Ostrowski, Über die Absolutabweichung einer differentierbaren Funktion von ihren Integralmittelwert, *Comment. Math. Helv.* 10 (1938) 226–227.
- [29] M.E. Özdemir, H. Kavurmacı, E. Set, Ostrowski's type inequalities for  $(\alpha, m)$ -convex functions, *Kyungpook Math. J.* 50 (2010) 371–378.
- [30] B.G. Pachpatte, On an inequality of Ostrowski type in three independent variables, *J. Math. Anal. Appl.* 249 (2000) 583–591.
- [31] B.G. Pachpatte, On a new Ostrowski type inequality in two independent variables, *Tamkang J. Math.* 32 (2001) 45–49.
- [32] S.D. Purohit, S.L. Kalla, Certain inequalities related to the Chebyshev's functional involving Erdelyi-Kober operators, *Scientia Series A: Math. Sci.* 25 (2014) 55–63.
- [33] A. Rafiq, N.A. Mir, F. Ahmad, Weighted Čebyšev-Ostrowski type inequalities, *Appl. Math. Mechanics (English Edition)* 28 (2007) 901–906.
- [34] R.K. Raina, On generalized Wright's hypergeometric functions and fractional calculus operators, *East Asian Math. J.* 21 (2005) 191–203.
- [35] M.Z. Sarikaya, On the Ostrowski type integral inequality, *Acta Math. Univ. Comenianae* 79 (2010) 129–134.
- [36] M.Z. Sarikaya, E. Set, H. Yıldız, N. Başak, Hermite-Hadamard's inequalities for fractional integrals and related fractional inequalities, *Math. Comput. Model.* 57 (2013) 2403–2407.
- [37] S.G. Samko, A.A. Kilbas, O.I. Marichev, *Fractional Integrals and Derivatives. Theory and Applications*, Gordon and Breach, Amsterdam, 1993.
- [38] E. Set, New inequalities of Ostrowski type for mappings whose derivatives are  $s$ -convex in the second sense via fractional integrals, *Comput. Math. Appl.* 63 (2012) 1147–1154.
- [39] E. Set, A. Gözpinar, J. Choi, Hermite-Hadamard type inequalities for twice differentiable  $m$ -convex functions via conformable fractional integrals, *Far East J. Math. Sci.* 101 (2017) 873–891.
- [40] E. Set, İ. İşcan, M.Z. Sarikaya, M.E. Özdemir, On new inequalities of Hermite-Hadamard-Fejér type for convex functions via fractional integrals, *Appl. Math. Comput.* 259 (2015) 875–881.
- [41] E. Set, İ. İşcan, F. Zehir, On some new inequalities of Hermite-Hadamard type involving harmonically convex functions via fractional integrals, *Konuralp J. Math.* 3 (2015) 42–55.
- [42] H.M. Srivastava, J. Choi, *Zeta and  $q$ -Zeta Functions and Associated Series and Integrals*, Elsevier Science Publishers, Amsterdam, London and New York, 2012.
- [43] A. Tuna, W. Liu, New weighted Čebyšev-Ostrowski type integral inequalities on time scales, *J. Math. Ineq.* 10 (2016) 327–356.
- [44] N. Ujević, Sharp inequalities of Simpson type and Ostrowski type, *Comput. Math. Appl.* 48 (2004) 145–151.
- [45] Ç. Yıldız, M.E. Özdemir, M.Z. Sarikaya, New generalizations of Ostrowski-like type inequalities for fractional integrals, *Kyungpook Math. J.* 56 (2016) 161–172.
- [46] L. Zhongxue, On sharp inequalities of Simpson type and Ostrowski type in two independent variables, *Comput. Math. Appl.* 56 (2008) 2043–2047.